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Zadatak 4. Koliko rješenja ima jednadžba:

1) log2 |x| = 2 sin |πx| ;
2) | log 1

2
x| = 2| sin 2x| ;

3) log 1
3
|x| + 3

∣∣∣sin(πx
3

)∣∣∣ = 0 ;

4) cos x = 2−|x| ?

Rješenje. 1) log2 |x| = 2 sin |πx|
f (x) = log2 |x| definirana ∀x ∈ R

g(x) = 2 sin |πx| amplituda je 2 =⇒ g(x) ∈ [−2, 2] , period P =
2π
π

= 2 ;

6 rješenja (vidi sliku!)
2) 6 rješenja (vidi sliku!)

3) log 1
3
|x| + 3

∣∣∣sin(πx
3

)∣∣∣ = 0

log 1
3
|x| = −3

∣∣∣sin(πx
3

)∣∣∣
−1

3
log 1

3
|x| =

∣∣∣sin(πx
3

)∣∣∣
−1

3
log3 |x|
log3

1
3

=
∣∣∣sin(πx

3

)∣∣∣
1
3

log3 |x| =
∣∣∣sin(πx

3

)∣∣∣
34 rješenja (vidi sliku!)

4) beskonačno mnogo rješenja (vidi sliku!)
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